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E-192410-A
faw : iy fogm & v wd e

Subject : Elements of Science and

Mathematics for Agriculture

TG : 3que | [ 5o : 75
Time : 3 hours ] ' [ Maximum Marks : 75
LA : () | U @ gd Sifeg)

Note : Attempt all questions.

(if) 9 FHIE 8 ¥ 17 9% & W ¥ Aiafiw fawey fouw m &1
Internal options are given in Question Nos. 8 to 17.
o : (3) T HHF 1 TR A RN T A @I 1 @IS (3) °
=gfascdia yv=, @ve (3) H figa WAl 91 4 e w7 32,
@UE (F) W g 1 9 T I VAT @ H 5w ¥
Y1 W hF Y9 T 1 37 A@fed g1

Instruction : (A) Question No. 1 is an objective type question. It has three
Scctions. In Scction () Multiple choice questions, in
Section (B) Fill in the blanks and in Section (C) Match the
following are given. Each section has S questions. Each
question carrics | mark.

-1 (@Ue-3) wel fawen g fefan - [15-
(Section-A) Choose and write the correct option :
(i) WWW'&W?
(31 An 9 Fre wfatys yanfa & fawm w0
(7) Aty faEn o feei # fawm s
(®) I o ara feail o famm s
() swmmh

vaoa WIDNENE N Pro, |

Pl e S .

Fo
s
arteed




[2]

Aim of plant breeding is :

(a) devclopment of diseasc and insect resistance varieties
(b) development of high vielding varieties

(c) development of good qualities varieties

(d) Al of the above

(i) AR 7= = wewem yaim f

(37 Avzm (F) I\
(8) =i (?) T gF
The person to use the term *Genetics’ for the first time is :
(a) Mendel (6) Bateson
(c) Darwin (d) Robert Hooke
(i) TR R F L .
(37 e (7) sAgfen
(7) ferq (7) #few
Order of silkworm insect is :
(a) Lepidoptera (b) Orthroptera

‘ M“Wra (d) Hemiptera

(v) ST T FAE -

(3 e (7) FHHR
(@) AraE! (2) drer
Family of cotton plant is :

(a) Graminae () Crudiferae
(¢) Malvaceae (d) Solanaceae

(v) UfyeiT ar v & sopga ¢

(37) C,H, (7 C,H,
(7)) C,Hy (%) C3H,
Molecular formula of ethylene or ethyne is
(@) C,H, () C,H,
(c) C,Hg (d) C;Hg



(31

(avs-a ) fi wr ) 9 3 [1x5=5]
(Section-B) Fill in the blanks :
() AR Tq@mIm_ ¥

Full name of A T.P.is ____.
(i) wA Wy 7 g A v gt

__plant hormone helps for ripening of fruits.
(i) TNAFAANfaF ™ &)

The botanical name of tomatois ___.
(iv) CaC,+2H,0 —» Ca(OH),+___.

v) WHIRFIRFAFEE AT fAawdam e

Hatching period of silkworm in winter seasonis ___ days.
(QUE-R ) WE A Y : [1x5=5)
(&) (@)
() faafmd (37) “CrTd erEaw
(i) FERA (7) wfge If=am
(i) fewvad (7 siFfad=
(v) Tei () wyiE shafa
(v) MW (5 <@
(Section-C) Match the following :
(A) (B)
() VitaminE (a) Raphanus sativus
(i) Fructose (b) DBrassica juncea
(iif) Fermentation (c) Geminated seed
(iv) Radish (d) Diabetes medicine
(v) Indian mustard (¢) Dahi

M-47A

PT.0,



[4]

Frder : (F) T HEF 2 R 7 T AfreRaiy v § v@E T W
2 ¥ Al €1 (I sAfrman yre-dhn 30 Tz B)

Instruction : (B) Question Nos. 2 10 7 are very short answer type questions.

Each question carries 2 marks. (Maximum word limit of
answer is 30 words)

UF-2  SgCR S it fafay

2]
Define polymerization.
-3 sl w1 agems I Fif [2]

57,9 3,7,3,17,5, 17
Calculate the mode of following data :
57,93 7,3,7,5, 7

-4 S fafr = 8 9 fadmand fafaa) [1+1=2]

Write any two characteristics of crossing over.

WgA-5  SAidfh I i T QR S GIART [1+1=2]
Explain internal indicator with one example.

U9A-6 STl ¥ 1 A € ? (2}
What do you mean by polyploidy?

WyA-7  WYHSGE! S I aqie A4 fafag) (2]

Write the scientific name of honey-bee.

fador . (9) Y FUF 8 ¥ 12 % WYSANd W ¥ WdE TH W
4 i sz ¥ 1 (IW F Afuaad T=-HW 75 TR ®)

Instruction : (C) Question Nos. 8 to 12 arc short answer type questions.
Each question carries 4 marks. (Maximum word limit of
answer is 75 words)

wva-8  Frg aon 4§ gedt @ ¥ 30 B & i % wiHie el T € 1 39 Wi
1 GATRR AT A HIAC : (4]

i 0-10 | 10-20 | 20-30 | 30-40 | 40-50
gfa 2 10 8 4 6




[S]
Marks obtained by 30 students of 10th class in Mathematics subject

are given in following table. Calculate the arithmetic mean of obtained
marks : http://www.cgboardonline.com

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 10 8 4 6
gqar
OR
o wrolt & aftre 3@ Sifa
ELl 0-20 | 20-40 | 40-60 | 60-80 | 80-100
agfa 2 7 10 3 3
Calculate the median of following table :
Class 0-20 | 20-40 | 40-60 | 60-80 | 80-100
Frequency 2 7 10 3 3
W-9  Wicadl Fd % e wew fafay (F1 9 | [1+1+1+1=4]
Write economic importances of Malvaceae family (any four).
aregar
OR
QAT Fe 1 i Tee fafan (FK 7 |

Write economic importances of Solanaceae family (any four).

gva-10  orafas® a91 3murEl 9uiEs (Hegd) § S =R A@ fafag) [1+1+1+1=4]

Write any four differences between Real and Virtual Spectrum.

3rerar
OR
At ggT 91 1R a1 96 §or § I 9N I ff@y)
Write any four differences between Internal Combustion Engine and
External Combustion Engine.

M-47A PT.O.



[6]
WEI-11 U 9NaE B o dawd 1643 i Hiet ¥ ) 35 uw e 9t e
T Hf

Area of an cquilateral triangle is 16v3 sq. meters. Calculate the
length of one side of equilateral triangle.

[4]

Haqr
OR

T TR @A 1 ATFA 62500 a1 W2t 2 1 39 @ 1 =g 91d Hirog )
Area of a square field is 62500 sq. meters. Calculate the length of the field.

WR-12  Avee % swmia fam % srta gage e @ |98 aeest ) [4]
Explain in brief ‘law of segregation’ under Mendel’s law of inheritance.

rear
OR

Ffh % gy woFA H 0 g € (8 7)) ? [1x4=4]

What are roles of plant breeding in Agriculture (any four)?

fder : () WA FHE 13 W 14 dgHd W ¥ TEE W W
5 i aTEfed €1 (ST A ATy v=-di 1 750 U= ¥)

Instruction : (D) Question Nos. 13 and 14 are short answer type questions.

Each question carries 5 marks. (Maximum word limit of
answer is /50 words)

UvA-13  Io-Tfaat & wed Fram # 6 § TaaEg 151
Explain in brief First Law of Thermodynamics.

rear
OR

YohrI-faepa ¥a & ure Iy fef@u | [1x5=5]

Write five uses of photo-electric cell.

WA-14 9 WROT & [EAR 91 | Ang faeer g S (5]

RIS 0-10 | 10-20 | 20-30 { 30-40 | 40-50
ol %) den 2 4 7 4




frdar

Instruction : (E) Question N

ag1-15

[7]

Calculate the mean deviation from arithmetic mean of following table

Marks obtained 0-10 | 10-20 | 20-30 | 30-40 | 40-50
No., of students 2 4 7 p 3
3rerar
OR

it =1 Sm (&) | 1015 | 15-20 | 20-25 | 25-30 | 30-35
1hif =1 @ 28 52 45 17 10
Calculate the standard deviation from following table :

Plants’ height (cm) | 10-15 | 15-20 | 20-25 25-"30 3&35

No. of plants 28 52 45 17 10 ]

: 1 T
: (3) mwimwnwﬁéimm%mﬁ&-"ng)
6 3iF ot €1 (I H i B-HE 250 M=
o0s. 15 to 17 are long answer type questi}ms.
Each question carries 6 marks. (Maximum word limit of

answer is 250 words)

mmﬁﬁﬁﬁamaﬁwﬁmﬁﬁaﬁﬁﬁm:
(i) T g T T iR A
& aqdm defya AEE (FE 9)

(i) A
(iif) T i G493 G M (FE 87)

Describe the gobar gas plant on following heads :

(i) Labelled diagram of gobar gas plant
(if) Precautions in uses of gobar gas (any four)

(iif) Advantages of gobar gas plant (any two)
Haqr
OR

Yfafeci 99 %t ygrranen fafy 1 997 wfas Sifag)

.
.

[2+2+2=6]

[4+2=6)

Describe making of acetylene by laboratory method with diagram,



[8]
TF-16 3 % Fram s i v § wif [2+2+1+1=6]
(iy it
(i) oz wRow =1 Twifea fax
(iif) SraCHRA GROf
(iv) wraufEl (FE 3
Write the experimental verification of Ohm’s law on following heads:
(1) Definition
(if) Labelled diagram of electric circuit

(iiif) Observation table
(iv) Precautions (any twe)

srerar

OR

() wT= (i) wrdfafy
(i) Tafas (iv) IwEm (FE 31
Describe D.C. Motor on following heads :
() Structure (i) Function
(iif) Diagram (iv) Uses (any two)

WeA-17  WYEeEl & e 95 F) 9i geEse) [4+2=6]
Explain life cycle of honey-bee with diagram.

ear
OR

A $12 ¥ Sigq 9% F 9eF gHAR

Explain life cycle of lac insect with diagram.

----------



